Resistior Codes

TheProcedure...

The amount of resistance is measured in units called ohms (the symbol for an Ohm looks kind of like a
horseshoe with feet on the ends). "Ohm" is pronounced like "home" with "h" the | eft off. A higher resistance
resultsin lower current flow, much like the tighter you squeeze a garden hose, the dlower the water comes out.
Resistors can often have thousands or millions of ohms of resistance. Below are the most common units.

10hm = 1 Ohm
1,000 Ohms = 1K (Kilo) Ohm
1,000,000 Ohms = 1M (Mega) Ohm

Resistors used in electronic circuits are usually so small, it would be hard to mark the resistance so that you
could read the value easily. Resistors use coloured bands to indicate both the value of the resistance and the
tolerance (or "accuracy™). Y ou must be able to decipher the code - fortunately for us, it's easy! The tables below
give the colorsthat code the value of aresistor.

| Resistor Colour Codes

| Black | Brown |Red | | | Green | Blue | Purple | Gray | | | Silver
| o | 2 [2| 3 | 4 | 5 |6 | 7 |8 | 9 |1 m
| Tolerance Band

| Gold = +5% | Silver = +10% | unmarked = +20%

To usethe resistor code, follow these steps (as an example, assume we have aresistor labelled Yellow, Violet,
Red, Gold):

1. Placetheresistor in front of you with First band: [irst figure
the tolerance band on your right 1 (nearest an end)
2. Thefirst colour on your left isthe Second band: second figure
first cigit Third band: multiplier
(1-9) (Yellow=4) Fourth band, if any, gives
percent tolerance

3. The second colour is the second digit

(0-9) (Violet=7) )§)§)§ E 77

Number of Ohms Given
by Three Colored Bands

4. Thethird colour indicates the number
of zerosto add

(0-6,-1,-2) (Red = 2)
(Gold, multiply by 0.1)
(Silver, multiply by 0.01)
5. Thefourth colour isthe tolerance

(5 - 20%) (Gold = + 5%)
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Therefore: aYellow, Violet, Red, Gold resistor would be a4 7 00 Ohms £ 5%
This can be written as 4700 Ohms, 4.7K Ohms, or 4K7 aswell. The"K" is put in the decima place.
A Brown, Black, Black, Gold resistor would be 10 Ohm + 5%.

A Green, Black, Gold, Gold resistor would be 5.0 Ohms + 5%.
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